Transition:

Change these to their corresponding conditional perfect forms.

Take care: three of them take étre.

The conditional perfect

Grammaire

The conditional perfect is used to
say that something ‘would have

a jesuis h ilsviennent :
happened’.
b ilya To form it, use the conditional of
. L . avoir or étre, as appropriate, and
c Jai i jefais a past participle. The conditional
. . L. . of avoir is: aurais, aurais, aurait,
d jevais j ilvoit aurions, auriez, auraient. The
.. . conditional of étre is: serais, serais,
e elleseréveille k il faut serait, serions, seriez, seraient.
. . With étre verbs, the past participle
L ilvaut mieux must agree with the subject of the
f je dils sentence.
Examples:

g nous pouvons Elle aurait gagné.

She would have won.

Elle serait partie.

. : . . Sh ld have left.
Complete a-d using the verbs in brackets in the conditional perfect. el

Then write each sentence in English. Elle se serait dépéchée.

She would have hurried.

2 1n me le dire. (pouvoir) Use the conditional perfect of:
e devoir to say that something
. hould have h d.
b Ils y penser. (devoir) L

J'aurais di sortir.
I should have gone out.

pouvoir to say that something
could have happened.

¢ S'ils avaient eu assez d'argent, ils le tour du ¢

monde. (faire)

Il aurait pu pleuvoir.
i It could have rained.

Use the conditional perfect if a
sentence has a clause beginning
with si + pluperfect tense; the
verb in the other clause uses the
conditional perfect:

d Sielle s’était couchée plus tét, elle a l'heure.

(se lever)

S’il n‘avait pas plu, ils seraient sortis.
If it had not rained, they would
have gone out.

B What would you have done if you had found yourself in these
situations? Give your answers in French, using the conditional perfect.

Example: Comme Jean a échoué a ses examents, il a décidé de faire un
apprentissage. Moi, j'aurais repassé mes examens.

a Lucie est malade mais elle a décidé de ne pas prendre de médicaments.

Moi,

b Henri s’est disputé avec ses parents parce qu'ils ne voulaient pas qu'il
sorte le soir. Maintenant, il n’habite plus chez ses parents.

Moi,

¢ Lentreprise pour laquelle Héléne travaille lui a demandé de passer
une année en Espagne. Comme elle ne parle pas espagnol, elle a
refusé cette offre.

Moi,

d Au supermarché, Romain a payé plus que ce qu'il aurait dd. Il n'a rien
dit a la caissiére et il est rentré chez lui.

Moi,
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